> A
A & 0l & AF 2 E A A
20229 Z0l4A LB H HAF M
SN HAT D
M Hsns 4K
Sl HEDSAM L 2YX S CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
HAZ M 49,221,324 46,464,571 2,756,753
= 3,795,800
s 920,000
= 6,077,540
Al 38,427,984
swns s8X& 49,189,460 46,464,571 2,724,889
= 3,795,800
s 920,000
< 6,077,540
Al 38,396,120
asnsAd ¥ 2SN 49,189,460 46,464,571 2,724,889
= 3,795,800
s 920,000
< 6,077,540
Al 38,396, 120
MaHA SsZ2E A& 150,000 255,000 A 105,000
< 45,000
Al 105,000
401 AIEHI L 2 CHYI 150,000 255,000 A 105,000
< 45,000
Al 105,000
01 A& Bl 150,000 255,000 A 105,000
OMaHA sZE A& 150,000
< 45,000
Al 105,000
BN SdstM S (SZEH AT &K 219,700 219,700 0
J(HEAY)
< 69,700
Al 150,000
401 AIEHI L 20 219,700 219,700 0
< 69,700
Al 150,000
01 A& HI 219,700 219,700 0
OSLEU BALIOAX &R 219,700
= 69,700
Al 150,000
HASZE BHE LEDXEY &X 17,800 8,010 9,790
< 5,340
Al 12,460
401 Al HIRK 201 I 17,800 8,010 9,790
< 5,340
Al 12,460
01 A& HI 17,800 8,010 9,790
OHAS2E EHer& LEDEZFE &1 17,800
< 5,340
Al 12,460
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
MAESH XK L S2ZE A2 297,200 227,200 70,000
201 gBt24d| 237,200 207,200 30,000
01 AP 22| H| 7,200 7,200 0
O3 XA SH&EA AR= 7,200
@02 - J|e= 2,400
o= = 2,400
[ =P 2,400
02 E=22%H| 230,000 200,000 30,000
O3 XA - s2& S22 230,000
401 AlEHIZL £ 0HY| 60,000 20,000 40,000
01 Al&H| 60,000 20,000 40,000
OAUWHA 3 XX AEH| 60,000
AUHA S2E EX £ A2l 360,000 360,000 0
401 AlEHIZL 2 0HY| 360,000 360,000 0
01 Al& H| 360,000 360,000 0
OAUHA SZE &X ¥ A2 360,000
SEXHQ ANUHA 23 1,800 0 1,800
203 €2 F=&d| 1,800 0 1,800
03 Al ZH =X 2= XIH| 1,800 0 1,800
OHAAM AR =& 1,800
SOl AIHA SAHE B85 =7 260,000 40,000 220,000
201 gEt2Ay| 260,000 40,000 220,000
01 AP 22l H| 260,000 40,000 220,000
OANUWHHA EA&8E EE 240,000
OAUWHA WEIIE & HAONE EE 20,000
ANOIol HASIRE 29 25,000 25,000 0
201 et 9| 25,000 25,000 0
01 AFR 2t 2| bl 25,000 25,000 0
OARIS HARRAS &9 25,000
HASSAIE MWEXE 28,320,000 27,994,721 325,279
== 2,897,000
Al 25,423,000
307 2Iz2t0| A 28,320,000 27,994,721 325,279
= 2,897,000
Al 25,423,000
09 2L AHEXZ2 28,320,000 27,994,721 325,279
OHASSAIYE MHA XS 5,794,000
= 2,897,000
Al 2,897,000
OANUWHHA BN & HAMH K& 22,526,000
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X{ XH -
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S HsnsSAeE & 28X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANUHHA BHEE =SS 80,000 80,000 0
207 & O &H| 80,000 80,000 0
01 2284 80,000 80,000 0
ALSAHUMN X EERS JAMAE 80,000
ANMUHA SS8s &22E8H 6,600,000 6,600,000 0
307 glz2tol & 6,600,000 6,600,000 0
09 2HAHAEXS 6,600,000 6,600,000 0
OAUHA R8s =AEN 6,600,000
LA MaHA 23 650,000 635,000 15,000
< 195,000
Al 455,000
307 21201 A 650,000 635,000 15,000
< 195,000
Al 455,000
09 2+=HAHEEXS 650,000 635,000 15,000
OuUsSAA MaHA 22 650,000
S 195,000
Al 455,000
HaHAs EEX 1,752,000 1,150,000 602,000
= 1,083,000
< 541,500
Al 127,500
402 RI2EX 20| ™ 1,242,000 1,150,000 92,000
= 828,000
< 414,000
02 QI 2 AL EZ (01X TH ) 1,242,000 1,150,000 92,000
Ox2 MAHA TUEX 1,242,000
= 828,000
< 414,000
404 SASHIEEES 510,000 0 510,000
= 255,000
< 127,500
Al 127,500
01 SAt - SEHIUSEES 510,000 0 510,000
Ol MaHA TUEX 510,000
= 255,000
< 127,500
Al 127,500
F=AAUHA EUEX 4,945,000 4,590,000 355,000
= 2,700,000
< 2,160,000
Al 85,000
402 RI2HXt20l 4,945,000 4,590,000 355,000
= 2,700,000




A HAZH
33 sus s
[=T=}

S HsnsSAeE & 28X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,160,000
Al 85,000
02 QIZtXtE AL 2 4,945,000 4,590,000 355,000
O AL A 4,945,000
= 2,700,000
< 2,160,000
Al 85,000
IHHA == XHE O 100,000 100,000 0
307 21201 A 100,000 100,000 0
09 2+=HAHBXS 100,000 100,000 0
OAMUWHA ==X& O - HX HEXA 100,000
= -2 AUHA 23 1,000,000 1,000,000 0
307 gl2tol & 1,000,000 1,000,000 0
09 2HAHAEXS 1,000,000 1,000,000 0
Od= -3 AUt 23¢ 1,000,000
F 2= ANUBHA 23 150,000 0 150,000
207 A O H] 150,000 0 150,000
01 289 150,000 0 150,000
OXF - 2= NUHA 23
of 150,000
oIl A& 365AtS 24,500 29,000 A 4,500
201 £B-2%H| 15,500 19,000 A 3,500
01 At 22/l 15,500 19,000 A 3,500
O&=oHIIt A 365AtY 4,700
O&EIIA &F =2E 4,800
OALHHA HIIAS & 6,000
301 LEEXZ 9,000 10,000 A1,000
12 JEE2d= 9,000 10,000 A 1,000
ORZULIHRA AHZ24 9,000
QEWSIHE OtLel X XA 25,600 23,080 2,520
= 12,800
Al 12,800
308 XXIEHHSOIA 25,600 23,080 2,520
= 12,800
Al 12,800
" 3J2Sost X 2 & AHS I 25,600 23,080 2,520
Og=wsS3tE OtLel Xl K& 25,600
= 12,800
Al 12,800
Il A 23240001 = 124,860 124,860 0
201 £B-2%| 124,860 124,860 0
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5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
02 2224 H| 124,860 124,860 0
OAUHA 22200 25 124,860
22 HA(HE2 HA) 2,140,000 2,000,000 140,000
g 820,000
& 164,000
Al 1,156,000
309 =2 1,640,000 2,000,000 A 360,000
g 820,000
= 164,000
Al 656,000
01 22Al- SHIAMNTE= 1,640,000 2,000,000 A 360,000
onltsHA 294 N 1,640,000
= 820,000
& 164,000
Al 656,000
404 ZAMNSHAHE2AE=2 500,000 0 500,000
01 SAH- 2HA2EE2 500,000 0 500,000
oot A XX FEH| 500,000
222G EHA|(HEZ EHAl) 242,000 200,000 42,000
Fag 100,000
Al 142,000
307 giztol A 242,000 200,000 42,000
Fag 100,000
Al 142,000
09 2LHHEXZ 242,000 200,000 42,000
OZ2ZE A (HE2 =Al) 242,000
g 100,000
Al 142,000
HIHA & BX 1,344,000 0 1,344,000
404 ZAMN2SHE2NME2 1,344,000 0 1,344,000
01 Z2Al- SHASEE= 1,344,000 0 1,344,000
OdIHA & EX 1,344,000
AMUHA 8 HdE K22 100,000 100,000 0
201 et 100,000 100,000 0]
02 2%l 100,000 100,000 0
OAMUHA 8XHdE S22 100,000
HASSHZE| Al AE(BUS) S X222 48,000 0 48,000
201 LBt ]| 48,000 0 48,000
02 2=2=24%H| 48,000 0 48,000
OHASHZUZ|AIAE (BMS) S K22 48,000
HASHZE EHAYHOI AX 12,000 0 12,000
401 AlEHIZL 2 0HY| 12,000 0 12,000
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